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104 e VA S 341 2kwkkikikx8026 107 7
104 B RAERE 5’y 3203kkkdokkokkAx002 1 111 &
104 B RE b’q 210 Issttsobobollk092 1 112 =
104 B T b’y 3203kkkcdokkokkkk442 1 113 5
104 G BT i 231 Itttk 2529 114 5
104 i B1E i’ 37 1 4stetetotesolotaolk (002 1 115 &
104 e BN & 320 5skksksoletotiok 2720 116 =
104 B 20k & 36223k k4822 117 =
104 B WA b’y 3202%kkkkkokokolok 1 261 118 &
104 B2 | 7EEDE @ 321 2%tttk 1 524 118 =
104 b2 55 i’ 320 I seelotsoloiolk 2328 120 &
104 K H LI % 411 4xkskekirk3549 121 &
104 B b= 5 37045k kkAbokokkk %6127 122 5
104 B [ 9'E b’y 321 3tttk (0020 123 &
104 B2 TG i 3422%HHkFkkkkk 3265 124 =
104 G [S)/E2 « 41 28%#kkkkokokokk 4549 124 &
104 v 4 % 321 0kttrtiork 727 126 %
104 G JA UL e 320 Testolotsolotiolok 7723 127 7
104 G Mt & 3205kskeksolotiolo k6025 128 7
104 B2 | o 3 @ 341 2%tttk 4 729 129 =
104 Bt [ e & 3209kstokokdokxk 746X 130 5
104 B Tk b’y 3209k kkttkokokokok646 1 131 &
104 B TSR b’q 3208 %kstkotototook 1 222 132 =
104 G WYL A% & 3206skstletsolosiork 342X 133 7
104 Hv =3 '8 3203kkkkiork 527 134 %
104 B2 AR S 3429tttk 2528 135 &
104 Bt it 3 P b’y 321 2%kkkbokokokkk 5263 135 &
104 G RER L 3209skseletsolotsioiok ] 719 135 7
104 B AR & 3405tttk 1025 135 &
104 B2 4 15 @ 4208%kkdkkakkx x4 320 135 =
104 K pAIE =i % 321 2kwkkikrkx0066 135 Ea
104 it R8s °© 3425%kkkkkokk k%4923 135 5
104 B =02 b’s 37045888kt G 727 135 =
104 ey INER % 412 TspkkknkkT 720 135 %
104 H 0] i 3705tttk 36 22 135 7
104 Bt XU efs & 1402%%kkkkkkkk 162 1 135 =
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104 G FEiE i 21 1 2toletototsioiok | 82 135 7
104 e PR e “ 341 Tt 3424 135 7
104 e BEEE & 152 1 kkiokiorion] 241 135 &
104 B Wik 3= LS 3205kttt 7716 135 =
104 B 4| 5 3209 %kktkokokotokok 2039 135 &
104 B2 R4 & 341 2%tttk 562 1 135 =
104 ol E5 '8 3209tk ik 6208 135 &
104 B VLS LS 341 Isoblollolok 1995 135 &
104 oy AR C 3625kkkrkirk 51X 135 %
104 B PhFHp 5 3405%kkskokokototokk 141X 135 &
104 H B i 3205skskeksoletsokk (22 1 135 7
104 i MRERE & 371 Gtttk 6046 135 =
104 i R e i 331 Qeteletototiotok (044 135 %
104 G TR e 4] 1 Toetsolopsotontkok 8023 135 7
105 YLTE BtR B’q 32055kskskskkskdokk 302 1 1 B2
105 HiE BTGk i 371 3kttsbobobkokokokok 1 228 2 =
105 YLiE XU £’ 320THwkwkikikx0025 3 b
105 YR = @ 32055ksksdkskkok k5624 4 2
105 Y ZR WA A @ 410 Tk k9820 5 &
105 T BT @ 3205%kkkkkkkx %9423 6 B2
105 Y Ve BB 'S 3205k %k k%3323 6 =
105 ik TKIFEY °© 3202kkstolctoekick 2545 8 =
105 HIE PNAEAE @ 371 3skskekstfolokokekk 7322 9 B2
105 Y A @ 3209tk %4520 10 &
105 HiE B i@ 3205kttt 3520 11 &
105 HEiE gk i 3426spietsootiol k6482 12 7
105 HEiE 2R & 412 Ttttk 4567 13 %5
105 HE Wit A b’y 3209k #kkkkokokkk 2028 14 &
105 HiE ESIE b’y 3205k [ 722 15 5
105 HiE AsAE! b’y 14063%kkskskakakkx %9523 16 &
105 HiE REH i 341 Tkstsokbkokkkk 2025 16 =
105 TG FE IR R, & 34253kt 082X 16 =
105 HEiE B0 s 321 2stetelotolook k682X 16 %
105 HEE JEE i@ 3205kttt 8028 20 %
105 TR J& I °© 3424k kxkkk A% %%6209 20 5
105 YiE R i 421 0kkkokkkkxx054 1 22 =
105 i Ve & 32024skokskkox %8529 23 &
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105 YT HINT gy 320 5sektsksiooteotoiek 0267 24 &
105 HEiE A A & 320 kkkskkxkk 1023 25 5
105 HE M 25 b’y 321 0%kkkbokokokk k4946 26 =
105 HiE 2=k @ 320 stttk 2825 27 %
105 HiE {n] g B’y 3204kkksddokokokok k742X 27 5
105 HEiE KR U 41 2Tkttt 5048 29 &
105 TR K B &L °© 3424k kkkkAAxk 4462 30 5
105 Y B 5 3205tk %027 3 30 e
105 HiE XA @ 220 Ltttk 0024 32 %
105 HiE IV & 371 3ssteletolotsiork 302X 32 7
105 YiE JE R S i 3602k Hkkkkkkkk 8027 34 =
105 HEiE R & 3408kt kx4%6826 34 5
105 HEiE 2 & 3205kttt 0084 36 &
105 HEE LK @ 321 Qs 0028 36 %
105 HiE Rk & 3205ssletsolotiolok 4522 36 7
105 HiE FEEA -4 1310tttk k36 26 39 &
105 Wik HIT & 3205kkktokiork002 1 39 %
105 HEIE pulliisin & 3208kkksokkxiok(223 39 =
105 YR Fi 1 342 4ksktdokokokx k4 566 42 s
105 YiE RUHE B’y 321 Dkswskstokokokkkk 042 1 42 o
105 HiE IR el i 3205k #kkkkokokkk 226X 42 =
105 YiE K % 3209%kskkkkk k3647 45 7
105 HiE SCHERS s 420 5sksokopsotortor | 343 45 7
105 HE i s B 5’y 3206k #kkkkokokokk 1428 47 5
105 HiE HHE R @ 320 Jsektstotopiokk 516 1 47 &
105 HriE XRS5 % 2309sksletsolotiol k(0225 49 7
105 HoiE T @ 320 Tsokststtotopiokek6 1011 49 %5
105 HE %74 b’y 3208kksksksdokokok k%3843 49 F
105 HiE A AR b’y 3205k kkkkkokokokk 1 72X 49 =
105 HiE TREKHY & 3205ksleksolotiolk 29 26 49 7
105 HEiE ZETR A i 321 2stetoletoloteiok k852 1 49 7
105 YIE s @ 320 I kkkkskokkxx %0046 55 %
105 B FEER & 3209kttt 062X 56 &
105 HE BB B’y 341 2kkkstsdokokokk k2127 57 5
105 YA iz vy i@ 320 Tseitstsiototetoiok 825 57 &
105 HiE UL LS 411 stttk k2433 59 &
105 YLiE Foo % 321 0kokiokiork5423 60 7
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105 HEiH JEA = i 320 3sksletsotottook ] 523 61 7
105 TG JE A & 41 1 43eokoliotk k3623 61 =
105 HiE HEEL s 3209sksloksolotsiolk 2423 61 7
105 HEiE TR & 1426kttt 1 32X 61 %
105 HiE oz 5 3209kskskstsdokkkk %6116 61 5
105 YiE Z= I i 2224%HHHFkkAkk8028 66 =
105 HEiE IR L 321 2 kkok ik 6824 66 i
105 Y T @ 321 0ksststtobololokok 0624 68 =
105 HiE Jite K. i@ 3208seiksksioitonsiok 304X 69 %
105 YA [R5y i@ 3424seisksoitotokok 5425 69 &
105 YiE 6 i 3204k k6829 69 =
105 TR eI & 4127 Hxskktodokkk 4563 72 i
105 YA BETH R & 32023tttk 8524 73 &
105 HE HRAR B’y 3202%#kkkkkkkk 5265 73 =
105 HiE R JEES B’y 3209kkkkkokokokokok 1 222 75 &
105 HiE BT i 3404k k 3228 75 =
105 HiE FRA = 3205 kksok k0023 75 i
105 EiE HEHEL z 321 Dioksioptokiork(002X 75 5
105 HE &R G b’y 3206%kkskskokokok k48429 75 5
105 YIE G Eg 4420K4kkkkek4k 298 | 75 s
105 HEiE RAEFN % 321 Iselotsototiolk 4965 81 7
105 HE ERERIA % 3205kkkkik) 10 81 75
105 HE (=20 b’y 3203%kkkkkokokk k(0922 83 =
105 Y S el @ 3205%HHskskokokokokok 7022 84 =
105 HiE s B’y 3208kskskstsdokokokkk024 7 84 5
105 HEiE BECER % 3426sieksootioiok ] 406 84 7
105 HEiE 5 £’ 3625 kkpiokiok k(422 87 &
105 HEiE PR AE & 321 stttk 0828 88 &
105 HiE AT b’y 3405%kkkkkkk 042X 88 5
105 HEiE 25 & 2305ssleksolotsiolk (0425 90 7
105 HEiE S]iE3= i 1406skeksoiosiorrk006 1 91 7
105 i % & 320 kkkkx4%0029 91 5
105 Y I5E- L @ 3406+HHskkokokokok 1 228 93 5
105 HEE ERiE & 3205ssleksolotiolok 7 145 94 7
105 PE L @ 3205%Hkkskkkokokok (0268 94 5
105 HiE TR -4 1305%skskokpstosior k0045 94 &
105 HiE TR & 341 6kkkkkxk%k 1526 97 5
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105 YL Z=TiE 'S 3703tttk | 82X 97 =
105 Wik BT %z 4228Fwkpkiokikx0227 99 Ea
105 YA 7K SRR & 3604sicksksiotoksiok | 68X 99 =
105 HE =T b’y 513 Tskskskstsdokokokk7208 101 5
105 HiE N B’y 3205%#kkkkkkkk 3625 101 &
105 Hig 2 S 3206skskokioiork | 248 101 %
105 HEiE R & 3206tttk 1 220 101 =
105 HE JE [SH A b’y 321 Okt k%0629 105 &
105 bat AR B8 3205k ki1 761 105 %
105 HiE 5k B B’y 3304kkkstsdokokok k%6227 107 5
105 YEiG P S 3205%wkkikikk0748 107 %5
105 YLiE T4 % 411 Jkwkkioriork0443 109 Ea
105 YIE Fii @ 372 3kskskstsdokokokek k7 262 109 F
105 HE EW R B’y 321 2kkskstsdokokokk k0427 111 5
105 HiE JE Hi 48 b’y 41 2Tx%kkkx44k6822 112 5
105 HiE JE X Bk i 2323%Hkkkokokokk k(0028 112 =
105 BEE R i’s 342 4seiotioloriolok 5522 114 &
105 HE Elg=3 b’y 3422%xx44kk k%% 206X 114 &
105 HiE Wi i@ 2102tttk 1920 114 7
105 YiE R H 5 3209%kkkkkkokkk613X 117 =
105 HiE BRI i 3T29%#kkkkokokok k(0048 117 =
105 TG HhEta & 37103kttt k7025 117 =
105 EiE KK & 1423%kkrrrrx0123 117 &
105 YA AE( & 3206skksksoietokkok 2029 117 &
105 HiE ENER i@ 41063skkkskkokx 2027 117 &
105 Y A 'S 320 Lststtetototolokok 0023 117 =
105 HEiE i 8 3205 kksokkiokx 1025 124 %
105 Y /NG @ 6523 #Hsdsdkokokolokok 7469 124 i
105 HiE SR BT 5 3302s%kkkdckokkkxk %0046 126 5
105 HiE 3h B’y 5002%#kskkkkkokk 7125 126 &
105 HiE B U 320 Lsskstetsiototeotoiek 3226 128 &
105 i TALES & 1309sskkkkok %2626 128 5
105 HE FR b’y 340 3%kkkkkkokkk(0102 130 &
105 HiE e PN @ 371 5ksksctolotoekiek 7823 130 N
105 Y 2t @ 321 Otttk k04 26 130 =
105 JE Ty i 2 8 2106 %kskkk0k2023 133 %
105 HiE AR & 3205k kxk%k2266 134 5
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105 YiE JL i 3209kskskstsdokskokk k0545 135 5
105 YiE /N, 5’y 34224 Hkkkkkkk 4045 136 &
105 HE 8l b’y 3209kskskskstokokokk k7447 136 &
105 HiE 2= Wik & 220 Tstolotsolotiol k9624 136 7
105 HiE X)) B’y 321 2%kkkbokokokok k0046 136 &
105 HiE IR 4 -4 3205tttk 24 2X 136 &
105 HoiE PN & 3206skksksoletokiok 7002 141 %5
105 HE FE= b’y 3705%kk4kkk %0028 141 &
105 YR HE 1 3209kskekskstokokokek k5729 141 s
105 HiE R AR B’y 4408%kkkkkkkx %2445 144 &
105 iR e i 321 Iskstolototokxk002 1 145 5
105 HEiE RPE °© 321 3kkskokokokkkk3649 145 5
105 Y T @ 3209#HHkkokokokokok 5966 147 i
105 HEE M= & 3209sksletsototsiook ] 028 147 7
105 HiE =75 B’y 371 3kskskstsdokokok k%6023 147 5
105 HEiE KE AT -4 411 4seictorsoliox k0927 150 &
105 HEiE T 25k £’ 1307 skksokkkokxk0045 150 5
105 Y 2=k @ 2306k 4% 0463 150 w5
105 HiE W v -8 3209skseskstiotiork 350X 153 %
105 YIE 24 Eg 130 7sfokkskerstokolok 1 823 153 s
105 PaE BT S 3206 kpkpkokiokk7 188 153 %5
105 YA FIpE] @ 321 Tekkrsookxiokd 023 156 5
105 ba Rl FE A & 3205 kkpkokiok k2522 157 &
105 HiE R @ 320 Lskstotototokkk 242 | 158 5
105 HiE bigi B’y 321 Jksksksttokokokkk4 822 158 5
105 PaE R iR 'S 3205k wkkiokikx8824 158 %5
105 HEiE BT 5 3203tttk k 701X 161 %
105 iR K- °© 411 4sspsiortok k622 1 161 =5
105 YEiG i E A & 3205kpkkkokiokk [ 760 161 %
105 HEiE Tk ERH @ 3406sksksoktkskok 0425 164 &
105 iR ZRIRAX i 3202%ksdokkokokkk6524 165 5
105 i FTH & 3408 #kstoksthxkk 3322 166 5
105 ba A & 341 2 kpkpioriokk | 569 167 &
105 HE PEY (VN B’y 4108%kkkkkkxxx0788 168 =
105 HEiE HREEZE & 3205ksleksolotsiolk 3029 168 7
105 HiE T A g3 6202kttt 0627 170 &
105 BEE PR i’s 3T04ssloksoloiolk 2240 171 &
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105 YiE %5 i 3424k HkFkkk k5968 171 =
105 TR EF IR °© 140 Lkkskokorsrskokk k052 1 171 5
105 HEiE WK 5 3605ksketsolofsokk 1611 174 %
105 HE M b’y 3205%#kkkkokokokok 1022 175 =
105 HiE M B’y 5107 ##kkkkkkokk 3544 176 &
105 TG R YK i 32053k k3625 176 =5
105 i P & 3604tk %1820 176 5
105 Y FI%IA @ 3205tk %0507 179 5
105 HEiE I 5% @ 3408sektsksiotoiskok6822 180 %
105 HiE A SO & 411 5seitopsiolketokk 5843 181 &
105 YiE A B A i 3205%kkkkkkkkk 5626 182 =
105 Wik MRELR % 4128Fwkkikirk3201 183 i
105 HiE T % 3305kkkkirk5425 183 %
105 HiE Tt & 3207 Hskstoloktokk 46 4x 185 5
105 HiE KPR @ 320 5sksksksotttiok 1 767 186 &
105 HEiE R/ i 3203skstketsolotiolk (36 1 187 7
105 BEE T £’ 321 2kkpiokiokk3427 188 e
105 YA J = — & 320 5skcksksioletoksiok 542X 189 =
105 HiE Tl & 321 stttk 1 72X 190 %
105 iR [JEKER: @ 142 Takstopatorok 4 22X 190 5
105 HEiE B -4 3405skksksiotttoiok 1 828 190 &
105 HEiE T anxk '8 5002 kkxskkkx54%0 788 190 e
105 HEiE ZEE i@ 34293tttk 2823 190 =
105 HiE LR i@ 34223kttt 0840 190 &
105 HiE X B’y 3206k #kkkkkkokk 5167 190 &
105 HriE Thmhs % 3208sksltsototsioiok ] 229 190 7
105 TG P & 321 Stttk k(0242 190 =
105 i N % 3416ktkkk2622 190 %
105 HiE R S b’y 3424k HHkFkkkkKGI2E 190 =
105 HEiE ZREE CS 42050k 3314 190 &
105 HEiE fAI£E -4 2304tttk 2028 190 &
105 HEiE Rz & 320 Lotttk 0084 190 =
105 i PR % 4206%pkkkonkk 1064 190 %
105 YR oM @ 321 Dksksksttolokkersk | 525 190 s
105 ik X ik BH e 321 0sksctoletotokaiekd 314 190 N
105 YiE Bk i 210 Tksktstkokokokk 1021 190 =
105 BEE RIRHA £’ 371 3sksioptokiorkd 121 190 &
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105 HriE X .5 % 230 1 ssteletsolotiolk0020 190 7
105 i 0 & 3425%ksdokdkoxik 1 520 190 &
105 WiiE 5Lk 4 3410tk k%0227 190 5
105 YiiE ERA 4 3210tk k%5769 190 =
105 HiE T8 Eg 3623kskekststokokokex k0026 190 s
105 YiE P2 i 341 2%k 3400 190 =
105 i R & 3706+kskkskkxx0226 190 &
105 P {E4TER & 3202skskotlotiokk6 264 190 %
105 HE EHk b’y 37 1 4sksksststokokokkk 1023 190 5
105 YiiE s 4 3623 %k kkkx 1823 190 =
105 YiE 2R3 i 230 Tkskttskokkkk (0221 190 =
105 YA [/RE=S)7 @ 421 Otktokkaoior 1421 190 5
105 HE 3% b’y 3406%kkHkkkk k%4828 190 &
106 Rl k2% g 4 3205ssksetksotsonk ] 221 1 &
106 P I 4 222 4k kxkk KA % %%8026 2 &
106 P PSS 4 62043k k2824 3 =
106 ol 2 1 3203tk 3829 4 =
106 Rz B 4 1402454329 5 =
106 Rl T b's 6222 kR k8121 6 =
106 P T 4 3708k k31 29 7 =
106 Rz R 4 341 2kl k 26 2X 8 &
106 Fl =i & 370 kkskokkkk 3221 9 &
106 R FRIEX “ 412 Tskskokakk 342X 10 o
106 P 2 BT 4 1424sksskkserknk 044 1 11 %
106 P TSR & 3204ssletsolotsioiok ] 224 12 7
106 Rz Vil:a 4 3408kl k5627 13 %
106 Flez PNER i@ 1424kt 0024 14 &5
106 P AR 4 1504k k3962 14 i
106 P T % 4 142 Tssksstosenkk 0047 14 %
106 P 2 4 3403kt k0084 17 %
106 Rz R 4 321 2kl k0021 18 %
106 R S — '8 360 itk ik x5725 19 5
106 Rl2E 2SI i 3503tttk k562X 20 5
106 P 75 fir 4 3408k k0845 20 %
106 Bl (1] b’y 2203 %kkkkkokokkok 3226 20 &
106 P FIEs L3 320 Lkt k00 15 23 %
106 R Wk L -8 3203tttk 6248 23 %
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106 e % 21 1 4setsototoctorork0046 25 &
106 = L 3205kkottokiork ] 241 26 15
106 P YL 4 3625%kskkktokk 1024 26 i
106 P 25 4 3406kskskskk4 140 26 %
106 P L08 Es 34245tttk 0925 26 i
106 Rz f1,—f¢ s 3202k kk k% %5568 30 5
106 Bl i « 211 2%#kkkokkk k0626 31 &
106 P AR A 4 3205k Ak T624 31 i
106 P 2L 4 1307skssktsokrskxk 006 1 33 %
106 P By 4 21 1 4skskopsorsork 1 94X 33 %
106 Rz s 4 3303kl k334X 33 %
106 R R @ 4102sttkkicronk0526 36 A
106 P XIEE 4 3206kskkkktok 024 37 i
106 P e=aiili 4 4109k k%3220 38 %
106 P B 4 3408 %kstksodkoktk0245 38 i
106 Rz 2SRk 4 1404skssoktiokk 642X 40 %
106 PR ST ks 3408 kkskskskskokskk(0147 41 &
106 P e 5 3205k k3815 42 i
106 P R A s 370 3sksleksototstoton ] 527 43 7
106 P ¢ 1 4 3426kskkkk4%0800 43 5
106 Bl B 2B @ 3203 %kkskokolotokok (0325 43 =
106 PR pan/e) = 342 2lokoloiolk 4529 46 i
106 Rl 2 JR it i 21 14tttk 5625 46 5
106 P 2 AF A 4 41 [ Assksotsokxk k3925 48 %
106 P 25 4if 4 2303k k0060 49 5
106 Rz Fiate 4 340 1skkkokkkkk k4688 50 3
106 Bl R 5’y 342 4sskskstkskedok k4824 50 &
106 P W WK 4 3422k kk A AH KT 22 50 5
106 P FER = 340 Lisksokossoksk k287X 53 %
106 R kHE & 3402sksleksotopstoiok ] 027 53 7
106 R E Ik B 321 3sseletototiolk4210 55 7
106 R TKF 5 3209skkpiokiokk541 3 55 i
106 Bl R @ 370k %8028 55 5
106 P 25 4 4 3205k kkk k%8324 58 =
106 P T4 4 3208k k3428 59 %
106 P EFHE i 150 Lsoketsotototeototek0 122 59 7
106 PR JE Fii ks 23023 skkekkekskokokok 2627 59 &
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106 Vp 4 341 0tk 0220 62 3
106 Z Bty 5 3206%kkksokkkiok] 418 63 5
106 Rl =Y= 2 3207 kkpiokiok k2526 64 i
106 P 4 % 4 3208kt k0024 64 %
106 P HE 4 1404kt k#8483 66 5
106 Rz PNy s 4 3205kl 5644 66 5
106 R LN & 371 3skkpioriork (0426 68 %
106 B Pamintid & 412 Ttttk d 221 68 15
106 P B3t 4 3729k k4529 70 %
106 P ¥ 4 2203k * 3620 70 %
106 Rz Zs fE 3 4 371 1kt 0726 70 %
106 PR T B 371 3sskskekokokseokokok 722 1 70 5
106 P PAIER 4 3206k kxR %8 10X 70 5
106 P FEA 4 321 0k k556 1 70 %
106 B Bk 'S 131 1k #0965 76 %
106 Bl 73 @ 34224 Hkkkkotokok 0068 76 =
106 R w5 £’ 5105kkkkokiokk7 385 78 %
106 P 3 4 3703kt %0229 79 i
106 P Py 4 231 Qskskorsotok k064X 80 %
106 P =] B T 4 230 Tkkkskkrkx 102X 81 =
106 B /S 'S 5138kskkiokirx1109 82 %5
106 R ¥ 5 340 Dwkokiokiorx 7893 83 i
106 P Fhv 4 3209kt k064 1 84 i
106 P R i 4 320 Tkt k0024 85 %
106 P X1 & 1309sketsotototeotoick 5227 86 7
106 Rz P B2 4 331 0skksksskokkkkk 5522 87 @
106 Bl W T 5’y 231 0kl k3225 88 &
106 Rl2E S| 74 i 3708kttt | 549 89 5
106 P 24 4 3203sksksotork [ 182 90 %
106 P ek 4 41 14tttk 2766 91 %
106 Rz Zs 4 321 2kl k4829 92 %
106 R FNAEST & 2303skkpiokiok k5228 93 &
106 P Y 4 2304kt k0345 94 i
106 P Fik 4 3708 %kskskseodkoktok 5849 94 3
106 P St 4 3623k kT 185 94 %
106 Bl A @ 411 3kkltkkakarr k(084X 94 =
106 PR JE 35 ks 34.25%skskekkekkokodkok 3722 94 &
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106 e 4 34922kt xsokkxAk (0623 94 3
106 Iy L 3209kkpiokiok k(0028 94 15
106 5 H 3709kskkskkk%k%3913 94 =
106 P Bk 4 230 Lkt k0024 94 %
106 P L 4 3206k kkkk kK R566X 94 =
106 Rz TR 4 3203kl k%9424 94 3
107 T Fik L 3209tk k%2826 1 &
107 BB 75 IR z 3205kkkkokiokk0523 2 7=
107 B XKL -8 3207 kkoiokiork 1 221 2 7=
107 BB RIS °© 3206k kkkkkkkx%8027 4 =
107 BB I X% 'S 3205%kkkkkkokxk 422X 4 =
107 BB W= & 3209tttk 1 529 6 &
107 BB IR 5 1426%kkkkxkk%k%6519 7 5
107 L VrasIE 4 3606 ktksotk0021 7 &
107 B HH 32 ik Eg 4108tttk 0089 9 5
107 B Fhepk @ 3209skskckstokkskokokk542 1 10 &
107 BB Tt 5 2203skkpkokiok k0816 11 e
107 I [RTRest 4 3213k x 2122 11 =
107 B V5,4 [ @ 410 stttk k0049 13 N
107 Ny {6 R 78 @ 4208skkksksctoletok k6520 13 @
107 i VENR 4N % 340 Tttt 3024 13 %5
107 BB A C: 3206%kskokstokokk5313 13 &
107 BB M °© 4206k kx4 %3143 17 5
107 BB J& 58 i© A1 2THkkxkkkk4 %0022 18 5
107 BB K5 H °© 350 Lkskssokkokkkd 127 19 5
107 BB VU 'S 3705%%kkkkk4 %5082 1 20 5
107 BB & £’ 4105%kkpkokiok k2348 21 &
107 BB EEAN S °© 4105%#%kkkkk%%532 1 21 5
107 BB PIXES i© 3507 Hkkkkkokk k%0026 21 5
107 I P 4 341 2%k Kk k5555226 24 =
107 B 575 H @ 21063%kskkstsksskokok %6620 25 &
107 BB IR & 3203kt kxkk0669 26 5
107 I B 4 411 2kkskkk k0727 26 =
107 B FRH et i@ 3209kttt k0066 28 =
107 BB XNE= °© 341 2%kxkkkk4x%530X 29 5
107 BB =H 'S 3208%kkkkkkkx%0840 29 5
107 BB %2 FL @ 3425%kkkokkAAA KT 020 31 5
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107 L B % 142 Ttttk 002X 32 &
107 0 ZESiis £'S 142 Tseistotosiokx 1527 33 &
107 b} IZE =8 £’ 220 Jelotolotiolk 2825 33 i
107 = ST 4 342 4kscttorctookk 27 22 35 &
107 L % 4 3304sksottsotonk0021 35 &
107 I JafhEZE 7 321 Osettorsotaork4 341 37 i
107 BB PR % 232 Liwkkonkionk4062 37 %
107 o EF s 41285kskkkk 4983 37 5
107 = S 4 3209skstioctork0069 40 &
107 L S 4 3209tttk 4524 41 &
107 L LA % 3709tttk 5748 42 &
107 I e 4 5103skkskootrkd 728 43 i
107 o B 4 3208skksttctork 2427 44 i
107 = P 4 3209ksctiotiork 4628 45 &
107 L T2 4 371 3tttk 7626 46 &
107 L AR % 371 3sksototortork 342X 47 &
107 BB LREdl % 34245 pkrkink0229 47 i
107 o I 4 4 3403skottsotonk0841 49 i
107 = FE A 4 3205tttk 6624 50 &
107 HE T e 4128stsototsorkok 264X 50 a
107 L el % 3402tttk 1847 52 &
107 B Fit % 321 Oscivtotaciotk 3349 53 &
107 o HH 4 40 4 341 2ksottorctork2029 53 i
107 = AT 5 3208sksottootoork 1413 55 &
107 L RS 4 6103ksotiotoork 4529 56 &
107 L N 5 3209tttk 481X 57 &
107 V5 EREES I 3205civktiiok8016 58 G
107 H o 4@ 3424tttk (741 59 i
107 = 25y A 4 371 3otttk 7929 60 &
107 B Ja 8 “ 6124 kkomioriorkd 024 60 i
107 L R % 14063tttk 5528 60 &
107 HE B 4 3205 kk ik k0528 60 i
107 o R s 5335kt 0683 60 5
107 = KR 4 3429ksotiotork 4028 60 &
107 I T 4 3604ksotsiotork] 029 60 &
107 L 6 g % 6521 seksotiotork 1024 60 &
108 O f BESC T 4 4128kkskorlorkk 2248 1 7




Mim | e | eams | wew SE S B | AR
108 TR RS 4 341 2%k %%8004 2 =
108 o ER i e 4 3921 Oskskktostolokakk k732X 3 =
108 TR B 4 1406kt kkkkk%2845 4 =
108 TR Gt T 4 3202k x%%8028 5 =
108 T fg W 4 140 4skkskkinnk 1623 6 =
108 T fg ik 4 3203 skkksokkx1k8663 7 o
108 O TR (g B G @ 4103sottetolicronk 1 543 7 &
108 T fg Wi 4 3703 skkksokkokiokd 362 9 5
108 T fg IR 4 4108k k%% 4529 9 =
108 T fg R iE 4 321 Tokkssokkxiok0023 11 =
108 T (g 1| 7y 4 4 4108 %3kt x30kk %0063 12 o
108 DB R L1371 i 6223tk 3745 13 &
108 VB i i 130 stttk 5 76X 13 &
108 T fg mE 4 5002k kx5 %£948X 15 =
108 TR 1A 4 4209kkkkk %5904 1 15 =
108 TR RAEE 4 349225k kxrok Ak xHk6829 17 o
108 TWSENIES: iE K @ 411 23tk 0229 18 A
108 TR 14 2 55 4 3408kt ksokkxk2628 19 5
108 TR oyt 4 341 Tokkrsokkrior] 240 19 7
108 T fg B 4 1407 #xtokktor k%0045 21 @
108 T fg VI G A 4 3708 skkksokkksok4 024 21 o
108 TR R 4 1404skkskkikxk 444X 21 5
108 TR 75 B H 610 1 kskksoksss®1616 24 5
108 TR PR 4 320 3skkksokkkior] 648 25 7
108 Lo PR JEsE A & 421 3xskkrokok k(0422 26 &
108 TR 2t 4 371 sokkrsokkxiok 0045 27 o
108 TR /N b's 3408%kkkkkrk k4321 28 5
108 TR o 4 3209tk kkHok2 464 29 5
108 TR 24 4 220 okkksokkxiok(0022 30 7
108 TR P 4 3208 %kt 3849 30 i
108 TR Tl 4 37023k kxs0kkx5k2 326 32 o
108 OB fg o 4 3708 %kksk k%4225 33 5
108 O TR {2 B wE @ 3206 ttkironk529 34 A
108 TR i 1 4 1402k %k k554543945 35 =
108 T fg ATy 4 371 0kkksokkksok6 769 35 =
108 L PR TR 'y 3408ssksstorsk 2820 37 %5
108 Lo PR G SESi & 320 Tkkopiokiork 352X 38 15




Mim | e | eams | wew SE S B | AR
108 TR e 4 321 0okkksokkxikd 826 39 3
108 O PR R T 5’y 321 2sHtttotolelokok 0482 39 5
108 TR BRI 4 3405%kkksokkkik 023 41 5
108 TR Zsth B H 411 3skkrsokkxxk5913 42 7
108 TR el G 4 3426k k%00 2X 42 =
108 TR %5, 4 411 5ksksrokkok k5121 44 3
108 (PR AR FRH @ 3205%kktokkior 0441 45 5
108 TWSENIES: &g e 2323ptklickiork5923 46 A
108 TR el 4 32095kt ksokkx3k3966 47 7
108 T fg I 4 370 Tokskssokkorsok2 044 48 =
108 TR I 4 321 2skkstokseodkoktk(0024 49 3
108 Lo PR ES 32 S 341 Gtttk 51 24 49 &
108 TR i ik 4 3205k kkk k%0422 51 5
108 TR ST 4 341 Tokkssokkxiok6524 52 7
108 TR bl 4 411 45kt %8029 53 i
108 T fg e 4 3203 skkksokkokiok] 222 54 o
108 Oy HR g BRI “ 612 Tsekstoiotlotiork 1 525 55 i
108 TR Nk # 4 1523 %ksokkior k%2025 56 5
108 TR g en 4 14020k ko k%0829 57 7
108 T fg 75 B 45 4 6228k ktokkxAkD 544 58 @
108 TR 25Ny k2 341 2skktor ik 1031 59 o
108 IR R fEF=N B8 4305kkkrk4k6626 60 7
108 TR e 4 2307 kst 0226 61 5
108 TR kAR H 3205%kkksokkx3k2530 62 7
108 TR 5 37 A 4 321 3kskkkkrk k064 1 63 =
108 T fg ik 4 2303 skkksokkkik5523 64 o
108 DB R X HE 2R i 5105tttk 5721 65 &
108 TR AL 4 3205k kkk k%3267 66 5
108 TR 25 4 371 Hokktok ik 6921 67 7
108 TR FER 4 4128%kpsktokseok k2744 68 i
108 TR i L 1 4 3204k kskkxkk4 42X 69 o
108 OB g BRI S 3205ssskssktetk ] 263 70 m
108 TR [ 4 349225kt ksokk k3K 796 71 5
108 TR B 4 1307 sxtokktor k1 829 71 7
108 T fg et k2 34925 %kkksokkx3k0276 71 =
108 T fg B 4 3709%kkk0kk x5k 242X 71 o
108 T HIIL 4 420 1 kkkkkrk 1921 71 5
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108 o FR i FEXK 4 342 5skskskskskskscskk 2425 71 =5
108 o ER i TS 4 3304kl | 822 71 5
108 o FR fi St 4 3205k sk k%2440 71 5
108 o FRfi 2 5 411 0otttk 9237 71 &
108 T fg 1| 4 4 320 3skkksokkxiok7 246 71 @
108 o F i VLR 4 3213k x 7444 71 @
108 o ER i AL 4 3426 kkkkkRRRTIEX 71 5
108 oFR i R 4 3206kkskkrkk21 66 71 5
108 oER i Sk 4 421 Dok k002X 71 =
108 Lo FR i LRt 4 3408sktksottonk4 329 71 a
108 o F i TR 4 321 2tttk 0640 71 &
109 Bep s P ES 4 3408kskkkkk 3222 - 7
109 e et O% % 4101 sksksksksksksioksksk (0027 - &
109 MRS E TR 4@ 4107 Hkkkkskkkskk 1 526 - &
109 MRS Jis! @ 3622%%kkkkkkkk544 1 - iz
109 e A S 4 4128kskksksiskekokk6425 - =
109 e et IS % 3408kskkskskekskskoksk 1 064 - iz
109 e At F L % 3426%kkskskskskkokskok 1 225 - &
109 e TR 4 321 0sststoiiorsk002X - iz
109 e itk 4 3909k kkkEE %0222 - &
109 MRS T % 411 2%%kkkx440k0546 - =
109 2o ] @ 3205%skskskskskkkskk 8025 - =
109 B £ER 4 3205 kR %2025 - iz
109 e B % 3921 3kskskskskskokokskok 1 765 - &
109 e SR 4 6103##kkkrrrnk 108X - iz
109 e i 75 4 3205k %3920 - iz
110 e YT 4 3905k 0048 1 &
110 e o2 e 391 2sksktkoskk 1 241 2 &
110 e TR 4 3205kkkktkkk 3526 3 =
110 e oIk 5 390 Tkkksokkkk %3616 4 &
110 e FHiZ3% 4 3905kl k482 1 5 &
110 e & e 4 320 6Hkkkkkok4kk 8308 5 =
110 e Bl ] e 411 5otttk 0402 7 &
110 e Ty 4 3704k kkk k836X 8 =
110 e FE @ 4 5110tk 0847 9 =
110 e el 4 3407tk dk04%0025 10 &
110 e & B E 3 4 1528 kkstotskskk 0923 10 =




skm | wsmh | sams | HGHEST B | AR
110 e TR 4 1405848559802 12 7z
110 e Tr= 4 61055kt 2040 13 =
110 e &1 2k 4 4128tttk 8624 14 &
110 e YEIRAT 4 321 Btttk 0047 14 &
110 e Tk X e 4 321 kot 2344 16 i

#E: 1095 E KALEY B HE ABSTHRIEBASZ REES:1, 15 AEWBEATR.




